EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AESS ZERRERAEE(U Sv/h)
a5 | so EP SO Rz FUES
No. | TTHf R4 SREEH i (R 4R8O F41E) %
im 5@ | 4@ | 4@ | 4@ | 4@ | ®14@
HERR | BAKE | BEGE | HERR | BARE | AEER
) 50cm 0.07 0.07 0.07 0.09 0.09 0.09
810 | =FHT REER =EEE—REMN 8H27H
1m 0.07 0.07 0.07 0.08 0.08 0.09
_ 50cm 0.10 0.09 0.06 0.08 0.10 0.11
811 | =FHT REER =EEE_REMN 9A2H
1m 0.09 0.09 0.06 0.08 0.10 0.1
) 50cm 0.09 0.09 0.09 0.08 0.08 0.11
812 | = &MY REER =FETILRERR 8A27R
1m 0.08 0.09 0.08 0.08 0.08 0.10
50cm 0.09 0.10 0.09
813 | =F&HT REER L—kid' sREE=%F 8A25H #iRi =
1m 0.09 0.12 0.09
i . X 50cm 0.08 0.09 0.08 0.09 0.09 0.11
814 | =FHT SELE RECELE=FHRE 8A25H
1m 0.09 0.08 0.07 0.08 0.09 0.10
50cm 0.07 0.07 0.09 0.10 0.08 0.09
815 |=&HT R =HE L HEE 9A2H
1m 0.07 0.08 0.08 0.10 0.08 0.09
50cm 0.08 0.09 0.07 0.08 0.08 0.10
816 | =FHT HrE =HETETHHE 8R27H
1m 0.08 0.09 0.06 0.08 0.08 0.09
I ——— 50cm 0.10 0.10 0.07 0.08 0.11 0.13 EHTIE F ]ILJ%B%I? 35;2555%% N0-8214§ﬁ
- EMBTIIRD L—%T MERME—INER=ZER - BEEZDER,
BT |SRA SR B PA2H No&2 758 AT 3L B 61— b Sk - B%H — ohsF
1m 0.09 0.10 0.07 0.08 0.1 0.12| i E Rt LM
50cm 0.08 0.08 0.09 0.09 0.08 0.09
818 | =FHT N =HETIL REVNER 9A2R
1m 0.09 0.08 0.10 0.09 0.09 0.09
. . 50cm 0.09 0.10 0.07 0.07 0.10 0.11
819 | =FHT N =FHPEPFR 8R27H
1m 0.09 0.10 0.07 0.08 0.10 0.1
50cm 0.15 0.15 0.08 0.10 0.09 0.10
820 | =FHT N =HEILET/IER 8R27H
1m 0.14 0.14 0.09 0.1 0.09 0.10
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AESS TR EFPEME L Sv/h)
- 5 9 2@O RE-BES
No. | TTHf R4 SREEH i (R 4R8O F41E) %
m 4@ $14@ 4@ %14@ 4@ %14@
PERE | AErE | HEsE | BEsE | PEeR | Arrs
50cm 0.07 0.08 0.07 0.08 0.10 0.10
821 |=&HT INERR =EE=F/INER 8H25H
1m 0.07 0.08 0.08 0.08 0.09 0.10
50cm 0.13 0.14 0.10 0.09 0.11 0.11
822 | =&HT INERR ZEFBTLEAR/INER 8H25H
1m 0.14 0.13 0.09 0.10 0.11 0.11
50cm 0.09 0.09 0.10 0.10 0.09 0.10
823 | =&HT INERR =&EILRB/NER 8H27H
1m 0.09 0.08 0.11 0.11 0.09 0.10
50cm 0.10 0.10 0.07 0.08 0.11 0.13[L EM Il R0 [ #BE-EES ] Ns17ERE
024 |= %0 R BRI ERE—INER=ER B 9H28 BT R DFHHE EETL—F TiHHH) | No.
- o [ 5 Z /N2 827E BT E M FE — P FR - EEE Z PR
1m 0.09 0.10 0.07 0.08 0.11 0.12| @t #H
50cm 0.12 0.13 0.10 0.12 0.10 0.12
825 |=&HT el 5 ZFAMETRFER 8H27H
1m 0.1 0.11 0.10 0.11 0.09 0.12
3 N e . 50cm 0.08 0.09 0.08 0.08 0.10 0.10
826 |=&HT el 5 ZFAM=FPER 9A2H
1m 0.08 0.09 0.08 0.08 0.10 0.10
50cm 0.10 0.10 0.07 0.08 0.11 0.13|LEEM I Hr0 I &k -EES ] No81 7=k
827 |=#&8T thisgs EFEENERE —FER=ZFR-E 9H2H BT DFSHE (BBIL—FTi5HH) . No.
= = FE = ek 824 EMBTI EME—/NER=FR-EAE=
1m 0.09 0.10 0.07 0.08 0.11 0.12| /s A
_ N L 50cm 0.11 0.12 0.09 0.10 0.12 0.14
828 |=&HT SEFR HIM SR 8H25H
1m 0.10 0.12 0.09 0.10 0.12 0.13
B 50cm 0.09 0.10 0.08 0.07 [E®O] EX=AO
829 |=FHT BHEER EEREIEMPERK 8H25H AR,
i Im 00o| o010] o0o08] o008 [HRfE-ERES ] L

¥ TE14EAERRIEE. SMN2FE8A26ANS10A6HICEELI-MEERBRERITRE=2I VT RE(EREF14E) IIBTHHAEHR. TOMITOVTIE., HEEWITEEHT 5.
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